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Congruent Triangles: AAS and ASA Theorems- Guided Lesson Explanation

Explanation#1

N N

ASA (angle-side- angle)
Two angles and the side between them are congruent.

The ASA Theorem states that two triangles are congruent if and only if two
angles and the included side of one triangle are congruent to two angles and
the included side of the other triangle.

Find the two triangles with two pairs of congruent angles and congruent
included sides.

Uk R
V | XT

LN = LS Angle
LVW = £LST Side
LW = LT Angle

Two angles and the included side of AUVW are congruent to two angles and
the included side of ATRS, so the triangles are congruent by the ASA
Theorem.

To write the congruence statement, match the corresponding vertices. Since
LW = LT and LV = LS, W corresponding to T and V corresponds to S.
therefore, U corresponds to R and AVUW = ASRT.
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Explanation#2

Y

AAS (angle-angle-side)
Two angles and a non-included side are congruent.

The AAS Theorem states that two triangles are congruent if and only if two
angles and a non-included side of one triangle are congruent to two angles
and the corresponding non-included side of the other triangle.

Find the two triangles with two pairs of congruent angles and a pair of
congruent corresponding non-included sides.

A I
|
Bi H
LA = LH Angle
LC = LG Angle

/BC= /GI Side

Two angles and a non-included side of ABAC are congruent to two angles
and the corresponding non-included side of AIHG, so these Triangle are
congruent by the AAS Theorem.

To write the congruence statement, match the corresponding vertices. Since
ZA = /ZH and 4ZC = 4G, A corresponds to H and C corresponds to G.
Therefore, B corresponds to I and ABAC=AIHG.
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Explanation#3

Y

AAS (angle-angle-side)
Two angles and a non-included side are congruent.

The AAS Theorem states that two triangles are congruent if and only if two
angles and a non-included side of one triangle are congruent to two angles
and the corresponding non-included side of the other triangle.

Find the two triangles with two pairs of congruent angles and a pair of
congruent corresponding non-included sides.

K p
: E7J : ?7Q
A R

£Q Angle

IR

£]
ZL

n

£ZR Angle
ZKI= ZQP Side

Two angles and a non-included side of AKJIL are congruent to two angles and
the corresponding non-included side of APQR, so these triangles are
congruent by the AAS Theorem.

To write the congruence statement, match the corresponding vertices. Since
4] = £Q and 4L = £R, ] corresponds to Q and L corresponds to R.
Therefore, K corresponds to P and AKJL = APQR.
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